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��م ا���������    ��  2ا����  ������ �
ارس ا�
	��      ا���ض�              2012ـ  2011!�� ا� �� ا�
راا�
0�1                                                �
ة ا.)��ز               ر��,��'	���ر�� ���م  ا+و�(ا� ��   )��'� إ���� أ!��               ��!
                 �6ل �

اد: ا+!�1ذ  

  

  ا:�1��ء '1���8 ور�� ا�1
��� ,�وري

دي � ;�<=> ?@ ?<� ����
  ,�ورة @�1'� ا����6ت ا�

د�� �  ,�ورة <Dط�� ا����6ت ا�
���� وا��B�<=1ت ا�

  
 ) )Bط  8( ا�	����ء 
   1ا�0���1 

���0V �� ��س ����  20mL= ل����  �( )0S  !"!��رور ا#�'#III 3(Fe (aq) 3C (aq))+ −+ ℓ )��+,�0/ه و-,+*�#�  #

 �#�0Cا#� 0,10mol / L=  .102� ����1  إ#3 ا#'�سV 3,0mL=  ل����  �( )1S  م أو��ل ھ0!رو�08! ا#��د"���  �

Na)) ا#��دا ( (aq) HO (aq))+ �ن  +−�1C+,�0/ه و<!"= ا# 1,0mol / L=  . !08را?� ھ0!رو� @>�AB#ا اCھ  > DBE" 

 !"!�III 3(Fe(OH)ا# (s))  ن ا#�!أ�# )# .F0G,+ !H- I��G3 ر�> @���ى ا#'�س �B�� ( )S  .  

1 �?,B#ا @>�AB# I0L�0�0'#ا I#د�H�#ا �B(0,5)   ــ أ� 
2  3�OPم ا!*B#وا !�       maxx (1,5)ــ أ�ST ا#�!ول ا#�CQ# �ARا #�AB<@ و �!د ا#��AB<@ ا#�

3  ��HA#ا �#��ن ا#,I��G ؟ . ــ ا?IW0�,+ DBEB ا#��#I ا#I0�'- I0L�QE ا#��دة و-�#B,�0/ ا#�# ��(1)     
2Vــ �ZA� !0H ا#��HB?�- I-,�Bل ��=  4 10mL=  =���ض ا#>1V  ��ا#��دة ؟ و I0�'- I0L�QE#ا I#��، �� +,�IW0 ا#

I��G,#ن ا�      (1)؟  #
   2ا�0���1 

 @]!B+ I0L�0�0� I>��ل ����+ ^WB+ )W��_ �0نW�#ا @`�"  
I0#�B#ا I0L�0�0'#اع ا��Pا �Q0� :  ر���e2Cز �L�Ec ا#' (g)ℓ   

�ر"!ر"f��  gو�2Oو  HCℓا#' (g) و�0�08  وPا �L�Ec ز�e  

2Hوا#��ء  O( )ℓ   

��0Eت E�#ا @`�+ )W��_ @'T#ا �� I�  +I0�� ,0j ا#��دةا#��`
 n  م!*B#ا I#k!- @>�AB#اx  ل�  '����1دك ��( ا��>��ن ، -�#�

  : �N)>ه 
1 @>�AB#ا اCھ D+ا�    (0,5)   ــ �!د ا#�l>�ABت و�
��l>�ABت  2# I0L!W#ا#��دة ا I0�� (0,5)   ــ  
3  3�OPم ا!*B#ا ��؟ و !�   (1)   ؟ maxxــ �� ھ� ا#��AB<@ ا#�

�ن ا#B*!م أ3�O ، �!د ��I0 ا#��دة ــ  4'" ��!E>  
 I0*WB�#ت واl>�AB����I0�� I ا#��دة #'B�#ا D+ا�E�#  (1)  

5  DBEB?ت ــ اl��H�#0= اO I?ه ا#!راC3 ھ� ا<��Bدا <
 D+ا�E#ت واl>�AB��# I0W?�EB#ا O1�1!وا @>�AB#ا اCQ# I0L�0�0'#ا I#د�H�#(1) .ا  

  ) )B=�  12(ا�����ـــــــــــــــ�ء 
  ))Bط 7,50 (   1 ا������ء

 I'?  � I��'� I0'0��'0� I>���� ,WBH�ABCDG  =8_و(S)  )B�B�M=20,0g  . ا#�/ءAB  I"او/- @L�� ��0*B8�

α=30° �*�Pى ا�B8��# IW8E#�- (π) وAB 3m= .  

BDG  �Q>�HG ة,Lدا  �ء /_r=1,00m   أن z0�-�( )O'B,O'C = α  و�( )O'C,O'F = θ  

 I'8#ل ا��3 ط> I��Q� ت���'B�kأن ا ,WBH�ABCDG  . ى�B8�#ا I0#�*`#ا ^|�و��[C ا#��#I ا#�,_IO�}# I0H ا#
 �*�Pا(π)  . �}H�g=10,0N/kg  .  

�� ا8�#= })�S(  I}*E#ا  � I0L!- I>,8-A  �QB�0OAv 20 m / s=  .  
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 ��@�
����1ه '�>�ھ�� ا�=��� ا�� R�> الS! ?@و ��T!+ا )�� �'�NU� ��	�(�	ا�=��� ا��� ?��1 >
<1�
د�� @�� )��X �  YZرج �0 ا���,�ع��
م ا!1���ل ا�
�!>� �� ا��B�<=1ت ا��'  .  

1  =8��# I0#�*`#ا ^|�      (S) (0,75)ــ أ<� +0WH, ط�IO ا#
 ا?0WH+ DBEB, ط�IO ا#�|^ ا#`*�I0# �� ــ  2

 I0#�B#ا|^ ا� -!D   I#kو  Cو  Bو  A: ا#�
�ع |� وا��8 ا#�H{�0ت ا#��Tر إ�Q0# �� ا#�

 �Q�0O .(1)     
3I0#�*`#ا ^|��ن ط�IO ا#'+ ^|� ــ �� أي �
  =8��#(S)  اب�     (0,5). د��"I ؟ <�@ ا#�
4  =8��# I0'0��'0�#ا IO�}#0, اWH+ !_ــ أو(S) 
  �L!W#ا ^|�   (0,75) أ���A  .�QB�0O �8 ا#�
I�0OCE ا#{�IO ا#�,�I0 ا?DBEB ــ  5 (B)  

# =8��(S)  I}*E#ا  �وره ,� !E>B . (0,5)   
CE أو_! +0WH,ــ  6 (C)  I�0OI0�,�  ا#{�IO ا#

# =8��(S)  I}*E#ا  �وره ,� !E>C  . 
 �QB�0O �8(1). وا�    

CEا?DBEB ــ  7 (D)  I�0O # I0�,�)��8= ا#{�IO ا#S(  I}*E#ا !E>D  (0,5)   

��8=ــ  8# I0'0��'0�#ا IO�}#0, اWH+ !_)أوS(  I}*E#ا ��F I#k!-( )CE F  I}*E#ا �� I0�,�و  rو  g و Fا#{�IO ا#

α  وθ  =8�#ا I�Bو�M .(1,5)  

9  ,0WH+ !_ــ أو  I"�)�ا#/او"I ا#*� )max O C,O G′ ′θ �3 اI'8# �@ +ا#�B "�'  أن  => �QB�,� لl] I",'#ا �Q0#إ

ABCDG  ، أن z0�G �B#ا I}*E#أن "�@ ا  '�"�Q0#ا#�8=  إ( )S . �QB�0O �8(1). أ�  

 ) )B=�  4,50(   2ا�0���1   
��]C g 10N / kg=  

 �W�R ��8_(S)  )B�B�M 0,2kg= @L�� ى�B8� 3��ع <|��  

  I"45-/اوα = °  �*�Pى ا�B8��# IW8E#�-  
�� ا8�#= })�S(  I}*�  �A  ب�8�Pذات اAz ون!"  

  I0L!- I>,? I}*E#ا  �و"�, B  ب�8�Pذات اBz I>,8-  

 Bv 5m / s= . ت���'B�kا ,WBH� 0- س��B#ا  > I�+�E#ا  

�ة  (S)ا8�#=  O S��'+f
�

  IB-�c �B�+و )^�1ر ا�� �1ى ا   

 �=B�ا���ر �0 ا�B  ����B_ا��,` ا� ���=� ��Nر���
  Ozو ا��
  )�  . <���1 إ�( !=Y ا+رض  N�� a�bOه )
� ا+�
��8=  أو_!ــ  1# I0#�*`#ا ^|��0WH+(S)  3, ط�IO ا#> )#�*Bل ا�l] 

 @L��#ى ا�B8�#(1) ا  
��� أن ا��A  I��8�# ا#I}*E  ط�IO ا#�|^ ا#`*�I0# ا��8 ــ  2>AB 3m= (0,75)  
mEأ��8ــ  3 (A)  I}*E#ا ��  I0'0��'0�#ا IO�}#اA  وmE (B)  I}*E#ا �� I0'0��'0�#ا IO�}#اB (0,75)  

4  DBEB?ــ اQ  ل�*B�kء ا�Ecارة ا,� @'G 3��دة <*A�#ا IO�}#اAB )1(  

�ة اB�k'�ك  5O ة!G I�0O DBEB?ــ اf
�

 )1(  
  
  


